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1. #HARFHI%:
© HBREA:
FREXZ) 0.1g HEIMABHERF, A ImL $2H0GH, S TUKIE2IH, 12000rpm, 4°CE L
10min, HU_EiEW, Bk AR,
) AT U REA R E (o) 3R BURIAFA(mL) H 1:5~10 BYELBIREL.
@ YHEE/ E PR
SN B AT B B0 Y, B0 BIE s B 500 540 B 4l i i TmL $REU
VKIS R P D R A B BT B (UK, THER 20% B 200W, #E7 3S, [H]FF 10S, #EE 30
70); 12000rpm, 4°CE{0> 10min, U _EiEH, Bk AR,
i) tazBRAm s AR E(10* )R BURATR(mL) A 500~1000:1 BIELFI#HTHREL.
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@ mEOSENEAR:
@-1: HRELZ) 0.1g HAMATHES, i 1mL 28080K, #T75%, BEEP &, T
95°C/KIEH# Smin, BUHAEIE=ZE G T 12000rpm, =i &0 10min, FiERAFN
@-2: BRFRELZ) 0.1g HEUIMATFERF, A 0.5mL AR (0.5M), HATIKHBEI,
8000rpm, 4°CE.0» 10min, HUAEE FiGZ 5 — EP &, FEIIAL P prie B 54k
) KOH B NaOH (0.5M) V5], fEANEAR PH T, 2 0ETE BRI, V% h
I} 8000rpm, 4°C#EC» Smin J& B EIGHINE, BLIEEA FIFHAATRIC N V3.
2y _ERLASm
O EEARTH 30 min BAE, 59K 3] 340nm.

IEARTRLTRHRELD, FH57%
NJEER, B0 1.1mL X8k &H.
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ATP %5 5 (umol/g 8 B )=[AA+(exd)xV2x106] (WX V1+V)=6.35xAA~W
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ATP 4 & (umol/10* cell)=[AA+(exd)xV2x106]+(500xV1+V)=0.013x AA

Wk ATP 4Bt

ATP %5 (umol/mL)=[AA+(exd)xV2x 106]+V1=6.35xAA

EERAREA T ATP ST

ATP %5 5 (umol/g 8 B )=[AA+(exd)xV2x 106 (WX V1+V)=6.35xAA~W
ATP %5 5 (umol/g 8 B )=[AA+(exd)xV2x106] (WX V1+V3)=6.35XAA-V3+W

e---NADPH ] EE /KIS 5 £0°46.3x103L/mol/cm;
V---1RBURAR, 1mL;

V2--- R NLEAAF,  200uL=2x10L;

V3 AH LA 24 EIEBUS AR, mL;
H6 I 28 715 ] ---0.06 umol/mL-4pmol/mL .

d--- Y642 HE B, 0.5cm;
V1---FEARARF, 10uL=0.01mL;
ATP/yf&---551.14;
W---FEARTI &, g




